[T FX]
15F B [} D E
14F B C D E
13F B C D E
12F B C D E
5 11F Bl C|D]|E
[scale:#91/60] e B C D E
9F B C D E
maeessan - 90.16m2w27 279 i A ALAL
W/ L= — @ 31.75me (§99.605F) [l | FEREEEE
(RHMTFZRAEHEED) 5F BlCc|DI|E
W7 )\3—JEHE 5.20m? (#11.571F) pl B, oD F
2F B C D E
W5 5t | $§/1 27.1 1 M2 (#38.445F) 1F Ao hEs RRs
Eﬁﬁﬁﬂﬁu 1,850 3,170 970 585 2,375
plmmpETAN 650 1,200
2O hX2 X
20BfKB O b HSZXFFB (3~ 15B) HSZXFFB (3~ 15B)
207 —Zft b
I7AVEAAMEHT) R ‘ ]
IPB A0 () | O
FLEHT we B
BEAT Ik 3 /L —— =7
1 5—K (EHE) < /
e yﬁﬁﬁf ,,,,,,,,, g HEEENEEE V@ﬁ]\g@;?} ,,,,,,,,,,,
Bl 1y il °1 , T e
PRl = ‘ ) 1 i 1
LED# 4T Lol aw) i ALl w)
BT : T h KA | Tﬁ’_h*# : ThhRFF
—_ = ?n F*ﬁ E
BeO 0 I
BT 2
= N o - '_L? r) =4 I's
S TEST 3 7 HE (2) = HE=E (3)
| FAAZUR n A
T |5 % #16.015) (#5.31)
AR T R T | = = L s 7
- HRAKRY M- | | —— i
v T—fHREEKE g ‘ - ‘: — i j s F ‘ ‘ ‘ ‘ ‘ ‘
HRises © NS ZO—ty h[gO—HY M| 42 ~- I/CI'E =
BEHLE T (1478) ! Ll L
I = R
ER T R vF | = Siany vo—tivh
ZAyF — 7;; (#3.8M5 ‘
BxtoF R sam 2 + | | |DEN
N ) BiF FH h
ARy F (HEH) ol o ; - L+2/400 AL |0
=R F % = @ 12 (2,40)
12 8=2yNBT Ny o a U gk <i:j ‘ ﬁgﬁr % 7O A
A 8-RNETN A AER) a - - £ ‘ ' x| = —
< ‘ | ps || PIE— R i
I Y
B o HRHE - » E
3 H 1 mad—oRIL— | 4R
< |0 A oty ||
VN LN P #H i
] # J‘ 71]\ [Ii —
B | e
eyl 12> 7 g
\9 w i ;
~ i
: | H516.9 e
’ ] Folg-2t e (1)
o L (#47)5 )
[©] il i S
@ I
! S
X
7; Ll R 3
S RNHMHFHTTRY IX
E 1 BT LU (W) | AeFILEL (w)
3 - ‘ _ \ i
§ m FIX
15
B _ L
= R R AAMTTX
3 =N SIS Lo z=——
o
N
g WF R (LFRBEX) ol |
4,300 J 2,660

1,990 6,960

3,210

900

1,510

1,200

4,570




